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public class A0l {
public static void main(String[] args) {
| (1) |
for (| (2) |)

sum += 1.0 / i;

System.out.println("1/1 + 1/2 + ... + 1/12367 = " + sum);

A01 DFEATHER
1/1 + 1/2 + ... + 1/12367 = 10.000043008275778

public class A02 {
public static void main (String[] args) {
| (1) | ;

int n=0;

while ([ (3) | )1

n++;
sum += 1.0/n;
}
System.out.println (
"1 226 n ETOEHOBHOFN 10.0 LLEIZRZDIE n >= "
+n+ " DLEETHD, ");
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public class A03 {
public static void main(String[] args)throws IOException {
BufferedReader reader

= new BufferedReader (new InputStreamReader (System.in));

System.out.print ("E&E[g] L TAT: ") ;
int input = Integer.parselnt (reader.readLine());
| (1) |;

}

public static printRate (| (3) | ) {

if (weight < 0)
System.out.println ("0 LLEDFEEEZ AT LTI EI W, ") ;

| (4) |
System.out.println ("£t&iL 80 FITY, ");

| (5) |
System.out.println ("£t&iE 90 I TY, ");

else

System.out.println ("EBIMZLD T, ") ;

}
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public class A04 {
public static void main(String[] args)throws IOException {
BufferedReader reader

= new BufferedReader (new InputStreamReader (System.in));

System.out.print ("E&E[g] ZEELTAT: ") ;
int input = Integer.parselnt (reader.readLine());
| (6) | ;
if (rate == -1)
System.out.println ("0 LLEDOFEEEZ AT LTI EI W, ") ;
else if(rate == -2)

System.out.println ("EBIMZLD T, ") ;

else

System.out.println ("BFEIX" + rate + "HTY, ");

public static (7) getRate (| (3) | ) {

if (weight < 0)
return -1;

| (4) |
return 80;

| (5) |

return 90;

else

return -2;
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public class A05 {
public static void main (String[] args) {
// intBEdFIxz 55 L, 181k
| (1) | = {100, 70, 50, 45, 80, 60, 20};

// £ &x.length®doubleMidslyE EET 5,
[ (@) | = new doublel | (3) | 1;

/] BEHxDF — % DY) 3T 5

int sum = 0;

for ([ (4) |)

sum += (5) ;

double average = (double) sum / x.length;

/] BEFNIZ<DET —F DR Z &N
for (int i=0; i<x.length; i++)

(6) = x[1] - average;

for (int i1=0; i<y.length; i++)

System.out.printf ("%$6.2f ", yI[i]);

FATHE R
39.29 9.29 -10.71 -15.71 19.29 -0.71 -40.71
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public class AQ06 {

public static void main(String[] args)throws IOException {
System.out.println ("factorial (5) = " + factorial(5));

System.out.println ("factorial (6) = " + factorial (6));

public static int factorial (int n) {
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public class BO1 {
public static void main(String[] args) throws IOException {
BufferedReader reader =

new BufferedReader (new InputStreamReader (System.in));

System.out.print ("JoA () iL: ");

double amount = Double.parseDouble (reader.readLine())

System.out.print ("FIZ ()X ") ;

double rate = Double.parseDouble (reader.readLine());
System.out.print (
"1. FETDEHAEANT) 2. BEO&EFEEANTI: ") ;

int select = Integer.parselnt (reader.readLine());

switch (select) {

case 1:
System.out.print ("AFEFAITE T ") ;
int years = Integer.parselnt (reader.readLine());

System.out.println (years + "4EfZiE"

(M |+ "HIZRY EI, ") ;
break;

case 2:
System.out.print ("HEEO&FHIL: ") ;
double target = Double.parseDouble (reader.readLine())

System.out.println (
| (2) | + "ERICRDET, )

break;

default:

System.out.println (" T LET, ");

break;




public static | (3) getAmount ( | (4) | ) |

double amount = init;
for (int 1=0; i<years; i++)
| (5) | ;

return amount;

public static getYears ( | (7) | ) |

int years = 0;

double amount = init;
while (amount < target) {
| (5) ;

years++;

}

return years;

getAmount A Vv RIIFAEFEDOHIHfE (double B, FHEAL O, AF|Zdouble %, %T),
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public class B02 {
public static void main(String[] args) {

int[] data = { 0, 10, 20, 30, 40, 50, 60, 70, 80, 90 };

System.out.println ("F¥J+10 LLEDT — & OfEEIL »
+ (1)

BE

public static (2)

COuntGE ( | (3)

int count = 0;

for (int 1 = 0; 1 < x.length; i++)

if (x[1] >= y) count++;

return count;

public static double average (int[]

x) A
(4) |;

return (double) sum(x) / |

public static (5) sum(int[] x) {

(6)

return total;
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public class B03 {
public static void main (String[] args) {

double[][] p = { { 2, 8 }, { 4, 16 },

{8, 311,

{16, 3}, {31, 5}, {3,231}, {5 3571},

{57, 133, {11, 2}, {13, 4} };

int[] indexOfMaximum = new int([2];

double maximum = 0;

for (int i = 0; 1 < p.length; i++) {

for (int j = 1 + 1; j < p.length - 1; J++)

double d = | (1)

| ;

if (maximum < d) {

maximum = (2) ;
indexOfMaximum([0] = ;
indexOfMaximum[1l] = ;
}
}

}

System.out.print (Math.sqgrt (maximum) + ":");

for (int i = 0; 1 < indexOfMaximum.length; i++)

System.out.print (indexOfMaximum/[1i]

}
System.out.println();

}
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public static (5) sgDistance ( | (6)

double d = (s[0] - t£[0]) * (s[0] - t[0])

10
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public class B04 {

public static void main (String[] args) {
int[] sample = { 2, 4, 8, 16, 31, 3, 5, 23, 57, 11, 13 };
sort (sample) ;
for (int i = 0; i < sample.length; i++) {

System.out.print (sample[i] + " ");

}
System.out.println () ;

public static void sort(int[] a) {

for (int i = 0; i < a.length; i++) {

(1)

public static int findMax (int idx, int[] al) {
int tmp = idx;

return tmp;

11



sort (a)
i =000 a ODREEBEDA T v 7 -1 £THRYIKT
a ® i ‘ZEEHDOEHEL findMax (i) FHOERELZ AW T 5

findMax (idx, al)

tmp 2 idx Z{CA
i =didx + 1 2B al OFEDOA T v 7 AETHYIRT
if af[i]l > al[tmp]

tmp 12 1 ZRA
tmp &R
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